



Vendor Ranking

Page 1 of 1

Letting: 04231006 October 06, 2023 10:30 AM **Call Order**: 003 **Contract**: E4X01-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44417817201 (*)

Contract Desc: BROWARD COUNTY GUARDRAIL & ATTENUATOR REPAIR & FENCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	COMPLETE HIGHWAY IMPROVEMENT IN	Responsive	Winning bid	\$206,103.00	100.00%
2	SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC	Responsive	Non-Winning Bid	\$236,767.00	114.88%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 10/31/23 BEGIN TIME: 10:30 AM

END DATE: 11/03/23 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 250,000.00 and not the contractor's bid total.





Tabulation of Bids

Page 1 of 8

Letting: 04231006 October 06, 2023 **Call Order:** 003 **Contract:** E4X01-R0

District: District 4 Counties: BROWARD Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 44417817201 (*)

Contract Descr: BROWARD COUNTY GUARDRAIL & ATTENUATOR REPAIR & FENCE

The work under this contract consists of the removal and repair of damaged or destroyed sections of guardrail and/or fencing. The work may also include modifications and additions needed to bring existing sections into compliance with current standards and the installation of new sections of guardrail and/or fencing. Additionally, the contract includes providing labor, materials, equipment, and incidentals necessary to inspect, clean, repair, reset, relocate, or replace crash cushions at various locations. All work will be conducted on the Arterial/Interstate System.

ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$250,000.00 and not the contractors bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Alternate Item Description	Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEAS GUARD	RAIL &		
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (A	SPHALT REI	PAIR (MANUAL) (1	ΓN .				
0005 0339 1 MISCELLANEOUS ASPHALT PAVEMEN	25.000 NT TN	10.00000	250.00	250.00000	6,250.00		
0010 0536 7 2 SPECIAL GUARDRAIL POST- SPECIAL STEEL POST FOR CONCRETE STRUCTURE MOUNT	16.000 EA	100.00000	1,600.00	250.00000	4,000.00		
0015 0536 85 20 GUARDRAIL END TREATMENT- TRAILING ANCHORAGE	1.000 EA	1,500,00000	1,500.00	1,000,00000	1,000.00		
0020 0536 85 24 GUARDRAIL END TREATMENT- PARALLEL APPROACH TERMINAL	10.000 EA	2,000.00000	20,000.00	2,100.00000	21,000.00		



Page 2 of 8

Florida Department of Transportation



Tabulation of Bids

Letting	g : 0	4231006	October 06, 20	23 Cal	l Order: 003		Contract:	E4X01-R0	
	No / Item ID Description	Alternate	e Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEAS GUARDI	RAIL &		
	•	oid as Lump Sum		Unit Price	Ext Amount	ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MANUAL) (1	TN .				
0025 GUARD CRT	0536 85 26 PRAIL END TF	REATMENT- TY	1.000 PE EA	1.00000	1.00	1.00000	1.00		
0030 GUARD	0538 1 RAIL RESET		85.000 LF	10.00000	850.00	17.00000	1,445.00		
	0550 10118 IG, TYPE A, 0 ARD, RESET).0-5.0', TYPE A	60.000 LF	1.00000	60.00	2.00000	120.00		
0040 FENCIN	0550 10220 NG, TYPE B, 5	5.1-6.0', STAND	1,300.000 ARD LF	18.00000	23,400.00	15.00000	19,500.00		
0045 FENCIN WIRE A		5.1-6.0', W/ BAR	100.000 RB LF	1.00000	100.00	19.00000	1,900.00		
0050 FENCIN COATIN		5.1-6.0, W/ VINY	405.000 ′L LF	20.00000	8,100.00	18.00000	7,290.00		
0055 FENCE 12.0' OF		B, DOUBLE, 6.	2.000 .1- EA	650.00000	1,300.00	1,500.00000	3,000.00		
	0550 60236 GATE, TYPE G/CANTILEVE NG	B,	2.000 EA	1,800.00000	3,600.00	4,000.00000	8,000.00		





Tabulation of Bids

Page 3 of 8

Letting	g : 04	1231006	October 06, 20	23 Ca l	II Order: 003		Contract:	E4X01-R0	
	No / Item ID Description	Alternate	e Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEAS GUARD	RAIL &		
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MANUAL) (TN				
	0705 11 6 ATOR, REPLA STING BARRII		450.000 FOR EA	15.00000	6,750.00	10.00000	4,500.00		
0070 MOBILIZ RESPO	E101 72 ZATION (EME NSE)	RGENCY	8.000 EA	200.00000	1,600.00	500.00000	4,000.00		
	E536 3141 RAIL STANDA CE) (SHOP BI		500.000 LF	35.00000	17,500.00	20.00000	10,000.00		
	E536 3142 RAIL STANDA CE) (0' - 50')	RD PANEL	950.000 LF	18.00000	17,100.00	20.00000	19,000.00		
	E536 3143 RAIL STANDA CE) (51' - 200'		480.000 LF	10.00000	4,800.00	20.00000	9,600.00		
	E536 3144 RAIL STANDA CE) (> 200')	ARD PANEL	630,000 LF	10.00000	6,300.00	15.00000	9,450.00		
0095 GUARD (0' - 50')	E536 3242 RAIL THRIE B	EAM (REPLA	100.000 CE) LF	30.00000	3,000.00	25.00000	2,500.00		
0100 GUARD	E536 3540 RAIL (PIPE RA	AIL) (REPLACE	27.000 E) LF	18.00000	486.00	20.00000	540.00		
0105 THRIE E	E536 5 1 BEAM (TERM	INAL CONNEC	1.000 CTOR) EA	500.00000	500.00	250.00000	250.00		



Page 4 of 8

Florida Department of Transportation



Tabulation of Bids

Letting	ງ: 04	231006 O	ctober 06, 20	23 Ca	II Order: 003		Contract:	E4X01-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEAS GUARD	RAIL &		
	licates item is bio	l as Lump Sum	5 5	Unit Price	Ext Amount	ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (ASPHALT REI	PAIR (MANUAL) (TN				
0110 THRIE B	E536 5 3 BEAM (TRANSI	ITION SECTION	1.000) EA	500.00000	500.00	250.00000	250.00		
	E536 6414 CHORAGE AS BRT-350/8)	SSEM (REPLACE	2.000 E) EA	3,000.00000	6,000.00	2,500.00000	5,000.00		
	E536 12604 RAIL REPAIRS POST IN CON		40.000 EA	80.00000	3,200.00	50.00000	2,000.00		
	E536 12606 RAIL REPAIRS POST IN SOIL		100.000 EA	80.0000	8,000.00	100.00000	10,000.00		
	E536 12609 RAIL REPAIRS POST IN SOIL		100.000 EA	80.00000	8,000.00	100.00000	10,000.00		
0135 GUARDI REPAIR		OFFSET BLOCK	350.000 EA	15.00000	5,250.00	14.00000	4,900.00		
0140 MISCEL MAINTE	E536 15 LANEOUS GU NANCE	ARDRAIL	5,000.000 LF	1.00000	5,000.00	0.75000	3,750.00		
		SSEMBLY FLEA ALL, FIRST POS		1.00000	1.00	100.00000	100.00		





Tabulation of Bids

Page 5 of 8

Letting	j : 04	231006	October 06, 20	23 Ca	II Order: 003		Contract:	E4X01-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEAS GUARD	RAIL &		
	icates item is bid	d as Lump Sum		Unit Price	Ext Amount	ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MANUAL) (TN				
	E536301508 CHOR ASSEN BREAK POS	Λ TYPE II (REF Γ)	4.000 PL EA	85.00000	340.00	85.00000	340.00		
	E536308511 CHOR ASSEN RAIL BEAM)	/I SRT-350 (RE	2.000 PL EA	350.00000	700.00	85.00000	170.00		
	E536314505 CHOR ASSEN BRK POST)	/I SRT-350/8 (F	5.000 REPL EA	85.00000	425.00	85.00000	425.00		
	E536314507 CHOR ASSEN END SECT)	/I SRT-350/8 (F	1.000 REPL EA	120.00000	120.00	600.00000	600.00		
	E536314510 CHOR ASSEN INE POST)	/I SRT-350/8 (F	1.000 REPL EA	120.00000	120.00	85.00000	85.00		
	E544 8 1 CUSHION ST IC INSPECTION	ANDARD ON TYPE I & II	2.000 EA	500.00000	1,000.00	250.00000	500.00		
	E544 8 2 CUSHION ST , ADJ MAINTA	ANDARD MAII IN)	27.000 NT EA	50.00000	1,350.00	200.00000	5,400.00		
0185 CRASH	E544 76 1 CUSHION (R	ESET)	15.000 EA	250.00000	3,750.00	250.00000	3,750.00		
0190 CRASH	E544 76 2 CUSHION (CL	EAN & INSPE	27.000 CT) EA	50.00000	1,350.00	100.00000	2,700.00		



Page 6 of 8

Florida Department of Transportation



Tabulation of Bids

Letting:	04231006	October 06, 202	23 Cal	Order: 003		Contract:	E4X01-R0	
	o / Item ID Alterna	nte Quantity Units	(1) COMPLET IMPROVE		(2) SOUTHEAS GUARDI	RAIL &		
	tes item is bid as Lump Sun		Unit Price	Ext Amount	ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount
S	SECTION: 0001	(ASPHALT REF	PAIR (MANUAL) (1	ΓN				
	544031001 FOR (QUADGUARD) F& PANEL)	7.000 I EA	1,000.00000	7,000.00	1,100.00000	7,700.00		
	544031020 FOR (QUADGUARD) F& M)	1.000 I EA	3,000.00000	3,000.00	2,400.00000	2,400.00		
ATTENUAT	544031039 FOR (QUADGUARD) F& GE ASSEMBLY)	10.000 I EA	1,300.00000	13,000.00	1,800.00000	18,000.00		
	544031040 FOR (QUADGUARD) F& SEMBLY)	12.000 I EA	1,100.00000	13,200.00	1,600.00000	19,200.00		
	550 6222 ST LINE (TYPE B) (6')	50.000 EA	85.00000	4,250.00	60.00000	3,000.00		
	550 6224 ST PULL (TYPE B) (6')	3.000 EA	350.00000	1,050.00	250.00000	750.00		
	550 7222 NINTENANCE (TYPE B) ABRIC) (6')	200.000 LF	1.00000	200.00	12.00000	2,400.00		
	550 80 TE- REPAIR EXISTING	1.000 EA	500.00000	500.00	1.00000	1.00		



10/06/2023

Tabulation of Bids

Page 7 of 8

Letting:	04231006	October 06, 20	23 C a	all Order: 003	Contract:	E4X01-R0	
Line No / Item		te Quantity Units	\ / · · ·	TE HIGHWAY EMENT IN	(2) SOUTHEAST HIGHWAY GUARDRAIL &		
•	is bid as Lump Sum		Unit Price	Ext Amount	ATTENUATORS, LLC Unit Price Ext Amount	Unit Price	Ext Amount

SECTION: 0001 (ASPHALT REPAIR (MANUAL) (TN

0001 ASPHALT REPAIR Section Totals: \$206,103.00 \$236,767.00

(MANUAL) (TN)

Contract Grand Totals:	\$206,103.00	\$236,767.00



10/06/2023

Tabulation of Bids

Page 8 of 8

Letting: 04231006

October 06, 2023

Call Order: 003

Contract:

E4X01-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.